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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level History
9489, and to show how different levels of candidates’ performance (high and middle) relate to the subject’s curriculum
and assessment objectives.

In this booklet, candidate responses have been chosen from the June 2021 series to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

9489 June 2021 Question Paper 21

9489 June 2021 Mark Scheme 21

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high- and middle-level response for each
question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in the
right-hand column are the examiner comments.

Example Candidate Response — high Examiner comments
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” The candidate identifies a
factor.

o This refers to dealing with
the banking crisis.

e T

Lo b lof. %ﬂ_{gw\p/ mav%s./_[ws 0 The candidate describes
Hnel _EOK_ME;;M@M;;@;,Q N | why Roosevelt (FDR) began
(ot Precss Oli Conanressioral amm,h&, amel add coull | his presidency with a ‘Hundred
1P el i Shils couon_lgng Her Stprewe Gl | | DV PN

g\‘? dg—@am_‘gbfz’w%m%_b—'" . ”‘M Examiner comments are \

% alongside the answers. These
hig explain where and why marks
were awarded. This helps you | |

Answers are by real candidates in exam
conditions. These show you the types of answers for >
each level. Discuss and analyse the answers with your to interpret the standard of

learners in the classroom to improve their skills. Cambridge exams so you can
help your learners to refine their

exam technique.

N J

How the candidate could have improved their answer

¢ (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show
connections between factors and reach Level 4. The answ ' i d
claim that taking swift action would have increased sup
actions over the banks. The response became more ge
Alphabet Agencies and fireside chats.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and

helps your learners to refine their exam technique.

Common mistakes candidates made in this question

¢ (a) Some answers described what Roosevelt did in his First and Second New Deals.

* (b) Some responses ignored the question’s timeframe, the 1920s, and focused on Franklin Roosevelt’s actions
regarding the Great Depression.

Lists the common mistakes candidates made

Often candidates were not in answering each question. This will help your
awarded marks because they misread or learners to avoid these mistakes and give them the
misinterpreted the questions. best chance of achieving the available marks.
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Question 1

Example Candidate Response — high Examiner comments

\ | G At Talales Giorecalwias ok il
~o_Neol w8 N daknS g Hnat

o "D(EM_ZL\_\QKQU_SQ_QQ e (JoKry
N e NS G\m(x,(a\ MML(} "\\i—ﬂ

Cg\;\)\m\ \Lmq YA )\Jm&\& O\\I\:(\ e X}x\\\mé; 0 Factors are identified which
‘ (b\(\(\ §g 53@9 \ cause the Estates General (EG) to
\D&%\emv\ “\(,i)é&&o (\W\‘\—m\j\&m\é?&ﬂ( )(\&ﬁm%d fail to deal with the problems France
TUconels goblems rmn\mw A\ "Wrsdnged b\/‘ faced.
e RS Brereral, WOS D Y \m\ :

OOl C_ound \MXQ m__j\ S\R\m\ )
Have Cdalks ﬂmmx oS \\ﬂ\
Ving Lows WT on Moy § VRO\ +»c 34
T lale \nad orougnk Ao ochNr el Cm‘mt(
Qdeartss, of ofNearey N
[Xino, odured ', Wen e A E
DU goss, gmg_\_’i\;j Wold e
QLS e ng SyStem woas  Qusay
Ommm@v S Q0 %»c‘ \sk \?r\d ‘Zﬁ\é

o RICin o SO, AN O _(L\M-

g\r&\mw\‘m{ e, (\regm.’s/ Yarg!s b
eot_ Caf Culwcal CHISiS Qe Qo €36
({‘ WX \/\V\Cm\(“—-\-r\m\ e, 3\;1 Gadele &N 7—
(o000l omained arahed V2 conle 8 e
\Odng sy Niceefere e g‘c&’ﬁ [SLct\efzﬂ
VA aor ave 0 degd uheh e (30eS Taree

Caced_Oue o e e Udhe qudom |
ety ol e \Sf @e%am_%s ‘\"3&*

Npokrer o), (easer \»‘M e

e The candidate explains the

bl th ti t in th
o kes (eread cond oY Qawe, Taie s | BG creates - %?iggsﬁi order
prodems, IS 7N WNQ\,“ ok ance \C\NA | means that the First and Second
\
NO\(\\\\’“ and (hucan ¢ cafreC o | Estates can always outvote the
|y y
8%5\_ %Y \éﬁm\ﬁ_?éf__()m]_\gb\fﬁ_&ﬂ I Third Estate, and this means the
NN W M‘D el problems facing the country are not
eX eﬂ\OHQr\ DT\\\\ PQCG and_ oo did addressed.

\'\G\V \\30?{\3( A8 CRapek. T\-cu \oueely s
W\ : Worhg of He ‘gﬁ_‘%
: N Cd}m&
Fci\‘f\\cl S\\(\S;Y ( M@{\g\‘z}@ \é&’k : évgj | OThe candidate explains that
ey Mﬁ)f the unwillingness of the First and
. @iﬁ\() T R m 3 Second Estates to give up their
e privileges regarding taxation creates

FZ.‘(‘L\ Yég@g& { a stalemate.




Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments
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e The final explanation refers to
the king’s lack of effort to address
voting by order which causes the
creation of the National Assembly
and this signifies the end of the EG.

e In the conclusion, the candidate
offers an attempt at significance.
They state it — the actions of the
king — rather than assess it against
the other explanations in terms of
significance.

e This is speculation.
Mark for (a) = 8 out of 10
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Example Candidate Response — high, continued Examiner comments
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Example Candidate Response — high, continued Examiner comments
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Example Candidate Response — high, continued Examiner comments
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How the candidate could have improved their answer

(a) The answer started well with specific factors identified (the system of voting/power of the king and First and
Second Estates/mistake made by Louis XVI).

(a) These were developed to provide explanations as to why the Estates General was not able to deal with the
problems France faced.

(a) The concluding paragraph, however, was a summary, and the answer did not address the ways that the factors
explained were connected. This meant Level 4 could not be reached.

(b) At the start, a clear outline was provided of both sides of the argument. The argument for Napoleon not
maintaining the principles of the Revolution was supported with specific details of his actions (voting/rights of
women), set against Revolutionary principles.

(b) Further support was given in the discussion of his use of censorship and the secret police, which went against
Revolutionary principles.

(b) The argument could have been stronger through specific examples of the propaganda Napoleon used and the
actions the Revolution took regarding censorship. The Concordat with the Church was a valid area to examine.

(b) It could also have been improved by outlining the Revolution’s principles regarding the Church. For example, its
advocacy of tolerance in religion and the sale of Church lands to lessen its power.

(b) The arguments over the economy and education were generalised and contained an inaccuracy; the assignats
were replaced by the Directory, not Napoleon.

(b) The conclusion was a summary of previous points rather than an assessed judgement.

10



Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments
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c The candidate describes why
the Estates General (EG) met and
who made up the EG.

e The candidate explains

that voting by order leads to the
formation of the National Assembly
and the end of the EG, and its
ability to deal with the problems
facing France.

Mark for (a) = 6 out of 10

o The candidates states that
Napoleon maintained the principles
of the Revolution.

1
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Example Candidate Response — middle, continued Examiner comments
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—-l%:b&.;;@i&(&{i&ﬁ{_g__”:l&/_(@siuw:ﬁOﬂ stend _Far. 1t =nded]

_6. fwda.hfﬁ.m\_,_ga\.zc_;evelf\{_ecbu&Uﬂ{__‘bfe@fc’_g.ﬁ-éh_l_aw_)_&k\d_ .

intduted New. sducation sypstems. tibhe. Lycdes |

go&_;itc_lmpeaaj_umE.uccs};{:\{_.__fosp[@,_sﬁ_;m.r@&\:.__j

fo.o fuc defense o-da ond Aried oy Jucy and

Efoms: 3. o\l areas..06 _laws as  aell s -a_ New
Pencel _Code. M| Hese benefits come wete - nBocnced

- ‘bf_ﬂ&.;..é_amcwld;ﬁ_;,o_é;;ﬁ@a—m‘ﬁﬁd\ﬁm@mﬂﬁ—;.(@o_lgﬁ_%ﬂ___

: m&_%&e__eﬂltcfmemmmkhmmkwhmmLc_code_

A moindens _aman .__.mnaetﬁ_@?_.m-_ce.ualu_ﬁog_,_mimriﬂé
Y

RK\B_QDMﬁ&_QﬂAVM{pao(‘_‘,QSJL_;Maﬂ\y'_._cigV;\}S_@giﬂﬁ&_'_

Lond._were. Dok eyed __aos 4&cor_ki_k\a\(z3h=\—_._women-,

_lesPecicly, - lost dhe ﬁgk\:\-;aﬁ_-]“jﬁ}f;;:ﬂbtci_-\-df_\Le_1_L.\L08&.5_)_

cnde mdi(.-!—.;_gzccmuEﬁ&5.._/kb_gg1y_c:8:h+__—)éal{;ba@_t~et’:¥_

s dvorce . ke _PeomtN s ?-al_ua;l—v_g_e,L%e,.:c Z\Jo_\(__:}lee,_;

educoNon _Syetem , 0s ik uos. Seen oS a4 toodte |

oF hme. ond. Hep -wWete needed G ?&a;m:_\;fcacc/_..o_;
In aézlf}'.tm.r_Napolza@r.\;_cm%mu:éu_w.“;w\,_fo@cmg_@r :

dhe VQJ\?c‘eA,_lbe_\{_éclJck\é_,_lﬂ_ca\__aod.e,cmM@uths_,_amé

\m\'id‘aa.ﬁ-qjobs_we,(:@;_ﬁmen;.b@cd.oa_glk}\\ and._nolk

b;ﬁ;“/_\_l&h‘m:btﬁ_k\ﬁﬁwl\i{;;éuﬁ AL&C_.QUE@__%@.&DJ(AL&

| Housever, Nogoleon_has Cordmdiche gone. gaoinst dhis_
_Weal_uben “he. glates_pembers: eF his_fmily_en__

thwaes o€ Conqueced dercionizd. To odd on, he
OrS,

o%ams\—. fds_ Cdemocsolie Sociedy_and  declares-
‘ﬁ}msdﬂ empeisc SF (Frunce  in o4

Jn_al, Nogoleon maintoines most o€ He qanciphes

|of e reudoMon, budsodly -Seme minoribims. gok e

: ﬁheahd_caé_oé.ﬂﬁy;dem.b&é\eﬁ_m;gs —
| france: _hes = .aChlc\fzér__é_?—Lécbfu;\f\:\—_\f_v ool areas

Ot 1€ orm

o WNICI  WICS. el M\‘V\AG‘_"T'\’G(’ Ve
revsiuon.__: : I — -

° The candidate describes
Napoleon’s currency reforms and
his control of bread prices.

6 It re-affirmed its ending.

0 This is an invalid reference

as it was created in 1806 and
operational in 1808. The question’s
timeframe is 1799-1804.

e The candidate provides the
other side of the argument, that
Napoleon did not maintain the
principles of the Revolution, in the
references to women and education
for the peasantry.

0 The candidate provides further
description of Napoleon’s actions

— reform of local government, the
judiciary and some introduction

of meritocracy. The reference to
making himself emperor is an
invalid statement as the question’s
focus is Napoleon’s actions as First
Consul.

0 The candidate provides a
summary.
Mark for (b) = 10 out of 20

Total mark awarded =
16 out of 30
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

(a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show
connections between factors and reach Level 4.

(a) The cahiers were described rather than explained as to why the Estates General was unable to deal with the
issues France faced. For example, the lack of governmental guidance created inflated expectations over their
efficacy to solve the issues.

(a) The explained factor was the creation of the National assembly out of frustration with the adopted system of
voting.

(b) The opening paragraph provided general points on how Napoleon became First Consul and that he did
maintain Revolutionary principles.

(b) The use of generalised points continued in the section on the economy, but the lack of specific reference to
Revolutionary principles regarding economic matters meant there was a lack of depth.

(b) The paragraph which followed, on the Napoleonic code, was more secure as it did link it to Revolutionary
principles. Whilst there was an attempt at balance in the section dealing with women and education, there were
no specific examples given regarding Revolutionary principles. This lack of specifics continued in the penultimate
paragraph. Therefore, the use of more detailed knowledge of Revolutionary principles could have improved the
answer.

(b) The references made to making himself emperor and placing his family on foreign thrones were invalid because
they were outside the timeframe of the question’s focus.

(b) The conclusion was a generalised statement, not an assessed judgement of the question.

Common mistakes candidates made in this question

(a) Some candidates did not show the connections between explained factors.

(a) Some of the answers were too long, impacting on the timing for the other answers.

(a) Answers described, sometimes, why the Estates General was called.

(b) Sometimes Napoleon’s actions were described without reference to the principles of the Revolution.
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Example Candidate Responses — Paper 2

Question 2

Example Candidate Response — high Examiner comments

a Czu«‘j} o M_Aéc&?c%)\ob_(’cmommesmm
|/ @Q@&m\) .
/s \oneced y0oes

£ @ CO\oused Sec xp.\oﬁévoef\cmv

\ o YN\ lound

I )olc)ﬂ_eéw,_m@ie\m_&@m%_&@kﬁ___

TR LR O NORS ek&@p_eegm_m
e loske Oorses fesesiec) tNeakh maRoed

I "“f&?—\\—\: 90 OG- OICRAS wece.

; cep\aeed oy Movcesinery N0 res ,
R0 0N ON Lot os 0% UEalesadly
dm«o&_m O Soc Mren ey Caadd ultin.
ANAE Wl (o Pat Teu =) Nillo Va e Wia s TENE = a'a XSV I
\e=s Qdo&_o;uqx\&b&g_mm@e_mb@m(ﬂ%_c
LR neee BEL0ReN - :Hr\gn DO \Qar

a The candidate explains that
the introduction of threshing

ﬂd@l@.m\] AAQP—&: 0o QL mQ&me— machines leads to resistance to
SRt S e o S T = = UAQ»&“@@LE_S@ mechanisation because finding
o) ‘b\/\i\\ﬁc\)_%@ﬁ%fﬁ-,_%@ LANCeS_ ke oy, work on the land is difficult enough

CJDQCS&%:KSQLB_. m&w darser Olos 2%_ without the addition of machines.

R \adj@ Rai ecd%_me@r SR
Jusin % D

Noohing use cilee Ted o
\(\ & {S_Qf‘d Ob\_LOUJQJ\_’QQf Ol ?\—(‘ﬁm

el (Y \ﬂ@u@mg&_dm@\@ _waﬂge o The candidate does not

f loue) Q) QIERAS, A )e W)\ complete the sentence.
MB C/\ RS- &g@% \©‘ Mark for (a) = 6 out of 10

o The candidate describes how
wages are lowered for skilled
workers.

________
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

% |
19 1bv i‘(‘(’xﬂ%\()@f»\ _Okner P\;\XOQ%
' = 0003 (o memm@%?m
COOATESALS, C‘) QLW
<l EGRORE Aronie B
N o \eongio B Q@Qﬁ’smasm

Ao T uome Acacepoch developtends da) .
p e NG ald \RYG) fm&ggmxaz@am
(% VRS CHANRC ~ :

‘(W)(% ‘éﬁﬁ‘l@m CaeES e o\ Rro Oy , oThe candidate makes a

. G Ay Ne. QO ok | | general statement that transport

A:—Pe@eﬁeﬁ— (\\%\,g \p\,\mﬁ% -@Q AXZQD QL development is one of several

- Q;gd? uﬁadb%m\izgﬂm_h o w“ oo | | causes of industrialisation.

st 38on ok © 0eMIS “Tes 8, o) . :
: . Y gt The candidate analyses canals

4 %&X‘L\E\l—’iﬁ‘:’?@\& (“]?Qh& &%Q\g&gmtg W\M role in industrialisation.

: LR a SRS X aW SRR N (NS mgpe;;_ _(Dw),_

\nmww—ﬁoogfa_‘%w\ Scmm@er-

= (O Modeciols, 4 to:‘c.@@&gd_a&

RloR) Q @%f@_. \D@XQQ’\/
Q)go and RoraAle }‘\ d‘e&fmﬂk\gj ,_Q)D@\L_

_‘m:n enadk - poess \e_‘

m_gﬂdﬁﬁx\‘@\ihm\?%r@—mw_m |

\\\\?(\Mu g oem&j_»_- o
%ﬁ%\f‘ﬂ&g 0_ Macadam roads are a further
R QuevR Con Y, Y&_SQQQ)‘&MQQQXQXIL__— development in transport which

(‘(‘Q@% PROA NS A\ \@\Lj brings about industrialisation.
\nores Aroun 00D ok %;?Q\& _____
o 3\@\_0(3@& SESHOS W |
m\\d@}ﬂ ~ e lowea) | \08 QP00

%@e&mﬂ% A ok
:Mommm“g\\w&cﬁ\l&m S0 Aconel
O W LR Dena ere b i der ol
Oxc\ O SQA@ ) en M@u ROLICREC X\
SRS O Mok Mre -\-Grﬂ\)&n \ mk
M\(\a@@fm AR o}eqa\@g
'720««& cank- g P Q\\m}w_ﬁm‘h\l@
@\m\\ N reE @My&@hmafm_a@m&c/__ﬁ
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

Do ?Qmo?\? no=rode.

Qﬁ\mo e\

D‘Na’\* = '&-\e(\m @“Q‘V”e—@w“?(‘ G f a The candidate provides a
' —— (Noxe EK4AXT ' brief outline of the role of railways
=__ptop\e. ’bmmcs\-t,_&ﬁgh_&)bm Yo | |inbringing about industrialisation
(\ voyl Yo o pe\—&pb without explanation.

| \mw\@ M @owueo&nsier

® \l@)ﬂp e eWies &\Q&sm\?zoﬁm
QR0 3(09&, Mca@&:useoe_QO__m '
nﬁ@mﬂ:‘&é&&cﬁi_ﬁ;@_m C\)\(')ua e e The candidate provides the
%w‘& GOX g?e(_\m r\f:@Qdﬂﬁg.i ¥ | other side of the argument in the
’l,pe\_nm &= Qﬂ_{g}gg %Sg\)‘ | | examination of access to resources,
ﬂmr\\“\ &%_@&%%SKDECG&M\SK | such as coal and iron ore, vital to
r@@ﬁrwWeAhc&u“wwd A Xy "} | industrialisation.

W\kﬁk{:@\&'&_QOQX_w% N
VST A Iet CO0Ohenss 1O ook

%Qﬁv_exgmo)edM\ﬁ&rghm
ERG = e \N Osk\(\&\ Vo W aa el N_—_l
WQ\aﬁr\o\_m@\Qmoe% %\ﬁ%&@r@n&.\

Do Ao Yoo

:@\MRQQ_UQQ\&XQ)‘\Q%&_@GL); Nodle Ao 1
OO =T \ze RO mex_@r.d@d\ |
mwew,_ieae_ NG

'r\\mnm\ QAR S ?{QDF)&\CO&?ED:\QQ’X_.__
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&a‘lm
km(\uterco\ kla“

\Q\,(A ‘(g:\;?.@ p Res
Seed Actil o Q,Qeu:m_ecs_rm:eﬁmebs&&_‘
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments

Q1o worken @nomoasd *fr_t,&ecd_s\p ﬁ"mb__
NDOOR ?‘i\@m&\m&%m_‘mm

B2 B0 432 wl@x&?ev\_%%%&t
A \tg p = SN i e Changes in agriculture provide

_{MQ_N_\_QL& . 1R QL @\QT%D__ further support for the role of factors
(‘?ﬁd\r\"vro,\f_zgﬂcr\ O A \\ gty | other than transport developments
r\é\ bl ﬂ\QQ)E QIU?W ANA_0Roe_e : in bringing about industrialisation

W XQS’.&L@C@%‘\O LAy (YRONNZ Qlﬁl)__ —an ingrease in agncultu;al |

\ A %r\\\ \\” \Qp -\ KTV ' _produc’uon prowdes foo_d or people
: in towns. This helps to increase

@Wj\ﬁ __3&\)0 L&M%&CX aoouadfens. | the population, and this provides

UKe 0.0, & M-Q_le\d_ﬁgﬂr\ a the available workforce which
POV ~\5(\(\\- 2 oYe ﬁ | industrialisation needs.

OROYE \B(l—\i\—%(‘ J\BNM’.- _@fQQ)U@b_:—‘ﬁ\s*_

\: concdod) Sne. \%{T\g o ROCreastr
[y %& %{;@1—_&@(\% WQ\Y) QUGS ‘?mgfm

hw&&a&mm@}@
RO, Con SOk 0l oned) G00Ne_ O

f el Es dodd new aibhtne Looers R

OROLERON. ONO_TNOKS 4o Shrreds nod-

@ They provide additional support
in the discussion of mechanisation
and its impact on the textile industry
— speedier production and better
quality goods.

‘L.,P

) GO ~\§Q€XX W\Sﬁ\ﬂebﬁ_m 0 The candidate acknowledges

TP \;é‘_umﬁgmms o de\,g\%)m@gdg the role of capitalism.
oA Oy d=acy Aoy m\?ﬁ{i\—@r\ _ .
S0ene tdf\(?\i?__@: taX @G\QQ’C_G):\’LQC LA T @ The concluding paragraph is a
\o\( e CPRUNOORZ 00 o0, CO Q*@‘\%@m ENVES Jfs.Jg’;}eer'r;neenr;[trather than a reasoned
00w )\5« Ol wQOEv@m,_ ‘\:@&_ﬂa’m@@@@n@ Mark for (b) = 15 out of 20
(\\n)\ QANQe. C XTI NCES TUEQW@'
Q\\GNLTOM W&‘-—Q Total mark awarded =

21 out of 30
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

(a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show
connections between factors and reach Level 4.

(a) The explained factor was the use of threshing machines which undermined attempts to find work in rural areas,
as opportunities were already limited.

(a) The reference to the lowering of wages could have been developed by linking it to the impact of mechanisation
on skilled textile workers, as their traditional methods could not compete with the new mechanised way of
production.

(a) The production of a second explained factor would have opened the possibility of access to Level 4.

(b) The answer started with a brief, clear statement that other factors, as well as transport developments, brought
about industrialisation.

(b) Arguments supporting transport developments as the most significant factor in bringing about industrialisation
were given in the second and third paragraphs.

(b) The impact of canals and Macadam roads was examined in relation to the development of industrialisation.

(b) The role of railways was underdeveloped, limited to a few bulleted points, rather than an explained argument.
Balance was achieved in the examination of Britain’s access to resources such as coal and iron ore, and the roles
of agriculture developments, mechanisation, and capitalism in bringing about industrialisation. The latter could have
been further developed through reference to how the laissez-faire approach of successive governments created an
atmosphere supportive of investment and innovation.

(b) The concluding paragraph was a summary rather than an assessed judgement.
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Example Candidate Responses — Paper 2

Example Candidate Response — middle Examiner comments

Seokon A ,
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o PNtz o ingtttryaHoutves . paganbens o tre  toister
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments

ot thai_, A, o j!ﬂfupaaémp‘-%_me&bm}&aﬂm
ﬁ,ﬁﬁ_,.._.E&UJhﬂ_lq_):kt_ﬂ;cij_::gp(:fc}.w_md_)mwﬂ_qu kb Of
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Feavite .
Eac_\atlance, @ L Haagh e (o irgstrbot  MUHAS GADL 20CC

o beamlyy et deg—— et tooese LEAlaowd —be S
—————|-oconmtelad,  phe eodonltabfen of Hatl lodwibsy  gaedle oepared
| Moty gacsr  Fnk coond @0 goashemd, Hair casating o ; GThe candidate states that

. , ] . e | supply outstrips demand in the
e g ——uleh ],k hbEiGest e —bhe mm._a__.._ textile industry without explaining

Adso_texbile.gunolicns wies foaul tn odmgh ro_ Ve why this leads to resistance to
NN AT S VTR - F W PV S i 2y SN Y. 1 3 mechanisation by some of the lower

1
OE_ peg SorE S ___4m@f9_&w_swwﬂyﬂ_nw+MA@—AWc1Aﬁ—ﬂl

classes.
_clonworbare  WGR dptplenspd  Wlh fhe eplealoion b Wi 6 The candidate makes reference
_._._._,_mu_ma:mug_e to some of the lower orders being

displeased by having to adapt
to changes in the textile industry
without explaining why these

XA gunalinn, phe Jower dlase coan . dhp el o b

| mechamsation d fo ] Ve rapat@F unctows JSZhs, workers are displeased.
[ Wa laoendr ol Hob octent oe o (EAE a2 ),

aiwel af XS dtedeaciden ool Ihrmbion af, woorowt ‘ e Th.is is a repeltition of earliir
‘ ‘ . . | points in the opening paragraph.
——tiadvrtie ) Mark for (a) = 6 out of 10
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments
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ead __aitowed foc

L detoponctetathe Gactas, festen () - - : a The candidate provides
. a general statement that
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.-l“c"-"-pmq-—l'?‘—"'-’—;—ffvl\"——af&bnﬁ‘—‘mtmq—wi__}m\dl%_;@ ol-lenaplive and to a growth in wealth and
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments
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How the candidate could have improved their answer

(a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show
connections between factors and reach Level 4.

(a) The explained factor was the loss of jobs, brought about by the more efficient, and more cost-efficient machines
which reduced incomes. This was linked to the actions taken by the Luddites to safeguard their livelihoods.

(a) The issue of pollution was not a factor and the way it significantly impacted on certain industries was left
unclear.

(a) More detailed examples relating to the question’s focus would have improved the answer.

(b) There was a loss of the question’s focus in the opening paraph with the reference to the cost of transport
developments acting as a brake on industrialisation. The answer would have benefited, therefore, from maintaining
a comparative analysis with factors other than transport developments.

(b) The role of transport developments was examined, but more detailed evidence to show how transport
developments impacted on industrialisation would have strengthened the answer. For example, canal construction
created jobs, which increased the market for manufactured goods. Their construction also required investment,
which further developed the financial system needed for industrialisation. The answer would have been improved
with a developed explanation of railways and industrialisation and its need for coal. Iron and steel acted as a
stimulus to these industries.

(b) The loss of the question’s focus meant that the roles of mechanisation, agricultural change, innovation, and
laissez-faire capitalism were not examined.

(b) The final paragraph was a summary of points made earlier in the answer.

Common mistakes candidates made in this question

(a) Some answers presented descriptions of living and working conditions.
(b) Some responses failed to consider the alternative side of the argument, so they lacked balance.
(b) Some answers lacked specific detail which meant there was a lack of supporting evidence for the argument.

(b) Generalised descriptions of roads, canals and railways were given, or it was stated that railways allowed the
new urban working class to commute to work.
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Question 3

Example Candidate Response — high
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Examiner comments

a The candidate gives a brief
outline of why the New Economic
Policy (NEP) is introduced in 1921.

e This is a typo — increases.

0 They provide an explanation
that War Communism (WC),
because of its punitive nature,
leads to a fall in food production
and creates famine. The NEP is
introduced to reverse this fall.

o The candidate gives a

further explanation by examining
the growth of opposition to the
Bolsheviks, which WC produces.
The need to keep power leads the
Bolsheviks to introduce the NEP.
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Example Candidate Response — high, continued Examiner comments
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Example Candidate Response — high, continued

Examiner comments
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e The candidate provides, in
brief, both sides of the argument
and supports the failure to achieve
peace as the reason why the
Provisional Government (PG) falls
in October 1917.

e The candidate examines how
continuing the war had a negative
impact on an already fragile
economy. It is the need to address
these problems which leads to the
PG’s fall.
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Example Candidate Response — high, continued
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Examiner comments

@ The candidate provides
additional support for the key role
the failure to achieve peace plays
in the fall of the PG by discussing
the loss of support it produces in
the Russian people. The Kornilov
affair provides an example of the
weakness of the PG due to the loss
of support as the PG supplies the
Bolsheviks with arms, which are
used against the PG in October
1917.

0 Typographical error —
Provisional Government.

@ The candidate provides

the other side of the argument

by examining the impact of the
slogan ‘Peace, Land and Bread’,
the organisation and leadership
of Lenin and Trotsky, and the role
of Order Number One on October
1917.
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Example Candidate Response — high, continued Examiner comments
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How the candidate could have improved their answer

* (a) The response started clearly with three points outlined in the opening paragraph.

* (a) The following paragraphs provided explanations for the introduction of the New Economic Policy in 1921
relating to War Communism, the growing loss of support for the Bolsheviks and the changed circumstances as the
Civil War came to an end.

¢ (@) The explanation concerning the growing loss of support could have been more securely supported through
specific reference to the Kronstadt Naval revolt, which revealed the depth of opposition War Communism had
created.

¢ (a) The response could have accessed Level 4 if it had shown the connection between the various explained
factors.

¢ (a) The final paragraph was a summary of previous points and was speculative.
¢ (b) The answer started well with both aspects of the argument addressed.

* (b) The second and third paragraphs examined how not achieving peace led to the fall of the Provisional
Government in October 1917 — economic impact and the growing loss of support due to losses in the war. The
argument fell away as the speculative point was made that if there had been peace then the Kornilov Affair might
not have happened. A balance was achieved through the examination of the role of the Bolsheviks in October
1917.

¢ (b) The reference to Lenin’s slogan. ‘Peace, Bread and Land’, could have been developed further — it highlighted
the Provisional Government’s lack of action over land reform, central to the peasantry, who were most Russians — it
was an example of the clever politics of the Bolsheviks, one slogan encapsulating what Russians wanted.

¢ (b) The issue of divided sovereignty was seen in the paragraph which examined Order Number One.
¢ (b) The final paragraph was a summary which used speculation and did not reach an assessed judgement.
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Example Candidate Response — middle Examiner comments
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MIA dleess 1o (P04 MW7 ORSHA , (LS5 (eotce wevl
be 4bie 0 by s s Tng MEW Erprum'c Lolitey
Wi Mg deced M (42 L0 A% 4t Remsiom |
/CWV\KQ : eThe candidate notes the
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Taligron M{} (M/Wt# M Res$d, colteny. s the NEP without linking it to the
L)_aow o o \Mtvu N M s Mwﬂ—mﬂkwo%, ]s.pecifics ﬁfWarfommunisn":.
o Gl bces oy goitidy e o | | el bormaeagenl
LS Lok, gl papieer dlmrt— PRIl [tpegee |0
Srtrectdd , Loy MY ha) b come d (Mos, |
O e T Wit et by mpre trOvEh |
Mettag ¢ o Py for bas.e //z/’aﬂ;tQ 3. Muc i LesS

: (Z’ Yy dhos@  AnMg s Lar c%p; Lo a5 ey, e Inflation causing the
| ° ( ‘
Zd \irwrwed e NEP P iy _*o helf introduction of the NEP is an invalid
e vaive  Mibey 9 statement.
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Example Candidate Response — middle, continued Examiner comments
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e The candidate explains that the
. | | role of food requisitioning by the
[The % v/ Econovictt Pty WG lnivjugs) | Bolsheviks disrupts the supply of_
| e 8y \mpatbgpiy. o B P "‘_q_Q_MﬁQlﬂl'o_ 1t‘ood to everyone, e>_<cept Bo!she_wk

~— roops. The NEP’s introduction is to
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' o Hmme wasrt bow TUNY I (ue fo Sl 0f—
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ks fgnce Thare e to Cangty ko Ll e
QAN AR My - d e EB0mp 1S ded it Thisdy)
(W Fhe p e s awrsle.  Lot\n #W She
Prtsuevile by war¢ RS Te MOve {onatpc Y
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Lo VLU, do dutid Wbty callbd o Bl keodned NEP.
O Suivv o roet mtbo wis e gxperty a faYby| | Mark for (a) = 6 out of 10
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Example Candidate Response — middle, continued Examiner comments
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LU‘,\M s o liwr Ror @ gmmead—  SE4+0 hdd, | therole of other factors in the fall
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| RiomA dt SNy, ko e juy gl e Douts, :
N dl o l’()wl&/\ 0 be M e W’U (PG) qverthat of the PG’s failure
: to achieve peace. The reference
|8 dee gov 'ty M "\“Q/’ ‘ﬂ e eltee Mwbw to Duma is a typo for Provisional
L oA e cowMUn B (W\M;% e die hor {frge Government.
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Wi ik My Memnbers 7 e QuMak, &l s

| Mgt MesesnV s Tn Pucq "85 hot) vivwegq O
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e The candidate provides
an account of Lenin’s aims in

Rvoodh ¢ \4 2?5 hod Ulreddr b eey October 1917 — achieve power
& %44 /\,‘s#/(d¢ Wil pa g dohg?> 04+ e for the Bolsheviks alone. This
- Dy b ue the ih re_ Lo dbges  [Nmgr determination, rather than the

Rt ea fum Ymwemah' p (47 B0y\yl  Jhoyic | failure of the PG to achieve peace,
Ledt  Leooy  Srolgvas &MCQ W10 v | leads to the fall of the PG.
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were Tolt, Bk I\ Sounces Stk by e
| fotvaq vy boeft Q\rcvmw} Lon wm_q:w

W F@OU? \/VoM? 420 77‘0/‘4//\% [?’Mc[
Mot= Weke dlSo 4 (Arse 01 Knp tevt
OCLobdl  [PMOV-(der ROmad N Resey Rrors

WL WP 4 3= b e 1@3’”” (TR TS @ The candidate provides further
(hez¢q Loopie to lose M (Y fwe PNV’S Jowy causes for the fall of the PG in

ey Go Vi —8ZF 7 \npoie  au 57M 3 f‘ October 1917 — the prevalence of
_ T opt &My Rromnn@ o Spvid ' radical ideas, circulating since the
? 5 ¥ | e L2 @ 1 Tsar’s abdication, and bread riots.
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Example Candidate Response — middle, continued Examiner comments
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How the candidate could have improved their answer

(a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show
connections between factors and reach Level 4.

(a) The explained factor was the fall in food production due to the forced seizures by the government, this led to
famine and the New Economic Policy was introduced to fix this problem.

(a) A specific reference to War Communism and the Civil War would have made the response more secure.

(b) The answer started with a slight confusion over terminology — Duma for Provisional Government — but the
reference to Lenin’s aim to seize power for the Bolsheviks alone and not to work with the Provisional Government
was valid for the question’s focus.

(b) The response would have benefited from the development of the reference to the Petrograd Soviet and the fall
of the Provisional Government, for example, Order Number One and Trotsky’s role in the Soviet. These specific
examples would have added evidential depth to the argument.

(b) The answer continued the argument with references to the growth of radical ideas after the Tsar’s fall and
problems over food supply leading to falling support for the Provisional Government. This would have benefited
from more detailed support — Lenin’s ‘April Thesis’ — military needs disrupting food supplies — disgruntled troops
becoming more radicalised.

(b) The concluding paragraph offered a summary of earlier points, not an assessed judgement.

Common mistakes candidates made in this question

(a) Some answers lacked specific detail, such as the problems War Communism created or the impact of the
Kronstadt Naval Revolt on Bolshevik confidence in maintaining power.

(b) Some answers provided a narrative of October 1917 or confused ‘peace’ with internal law and order.
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Question 4

Example Candidate Response — high Examiner comments
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Example Candidate Response — high, continued Examiner comments
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Example Candidate Response — high, continued Examiner comments
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G In the opening paragraph,

the candidate provides several
explanations as to why Johnson

is to blame for the disagreements
with Congress over Reconstruction.
Radical Republicans (RR) and
Johnson have very different views
— Johnson’s southern sympathy
means he pardons many southern
leaders, the RR favour a punitive
approach — he opposes legislation
such as the Civil Rights Act and
the Military Reconstruction Acts, he
dislikes the Freedmen’s Bureau.
On the continuation sheet, the
candidate references Johnson’s
lack of action against Black Codes
goes against the wish of Congress
to give ex-slaves civil rights.
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Example Candidate Response — high, continued Examiner comments
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How the candidate could have improved their answer

* (a) The response started with a clear statement that foreign involvement in the Civil War allowed the South to hold
out for longer, thereby prolonging the Civil War. The answer became more generalised with the reference to the
North’s naval blockade and the problems it created for the South. The explained factors dealt with the roles played
by blockade runners and commerce raiders, supplied by British shipyards, in undermining the effectiveness of the
naval blockade.

* (@) There was confusion shown in the description of the ‘Trent’ Affair, and there was no link established as to how it
prolonged the Civil War.

* (a) The concluding paragraph offered the explanation that blockade runners provided a counterbalance to the
North’s advantage in men and materiel. The response could have accessed Level 4 if it had shown the connection
between the various explained factors. A widening out of the discussion of foreign involvement to include France
(e.g. her actions in Mexico), would have made the response more secure.

* (b) The answer started with some general reasons why Johnson was to blame for disagreements with Congress
over Reconstruction. The response became more specific with relevant detail on Johnson’s actions on the Civil
Rights Act, 1866, the Military Reconstruction Act, the Freedmen’s Bureau and the Tenure Act.

* (b) There was a limited attempt to provide balance in the argument — Lincoln’s 10% Plan and the Wade Davis Bill.
* (b) Inaccuracy was seen in the reference to Hayes, rather than Grant, succeeding Johnson.

* (b) The concluding paragraph was assertive, offering no evidential support — what the Radical Republicans wanted
was too radical for the time. The response would have been improved if the views and actions of Congress had
been examined with more detailed knowledge as support.
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“ The candidate identifies ways
the South benefits from foreign
involvement, which prolongs the
Civil War.

o This is an invalid statement.
The British government allowed
private firms to supply the South.

o The candidate provides an
explanation — obtaining weapons
means the South can fight for
longer and make the winning of the
Civil War a possibility.

° There is repetition of earlier
points here. The reference to saving
money is an invalid point as the
South purchased the weapons.
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Example Candidate Response — middle, continued Examiner comments
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Example Candidate Response — middle, continued Examiner comments
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How the candidate could have improved their answer

(a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show
connections between factors and reach Level 4.

(a) The explained factor referred to the weapons supplied by Britain. The answer repeats this point and then loses
the question focus by making the unsupported, and inaccurate, point that in not making weapons, the South saved
money.

(a) The final paragraph was a summary of earlier points, rather than a supported conclusion.

(b) The answer started with a clear statement on Johnson'’s culpability and provided several examples in support.
An attempt at balance was made but no link was established as to how former slaves holding public office

caused disagreements over Reconstruction. The response became assertive in the reference to Johnson being
unprepared for office, without giving evidential support. The result for the response was that it was unbalanced in
its argument.

(b) In the concluding paragraph, reference was made to Congress overturning a President’s veto for the first time
in American history, but no link was made with the question’s focus.

(b) The answer would have benefited from more detailed knowledge to support points made.

Common mistakes candidates made in this question

(a) Some candidates did not grasp the mark tariff and answers were too long, which impacted on the time available
for other answers.

(a) Showed connections between the explained factors were not always present.
(a) Answers often saw the British government actively supplying the Confederacy with ships and weapons.
(b) Confusion was seen over the respective roles of Johnson and Congress.
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Question 5
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Example Candidate Response — high Examiner comments
| . e Lo:_anmmome. Khe Consbiduulz |

c The candidate identifies the
overall aim of the Progressives.

e The candidate provides a full
explanation of the belief of the
Progressives that more active
involvement in politics by the people
will undermine political corruption.
Support is given in the reference

to the 17th Amendment, the direct
election of senators.

e The candidate gives a further
full explanation about the banning
of alcohol. It destroys family life,
undermines personal responsibility
and its ready availability means its
influence is widespread. It leads to
the formation of anti-alcohol groups,
supported by Progressives. This
results in the passing of the 18th
Amendment.

Mark for (a) = 8 out of 10
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Example Candidate Response — high, continued Examiner comments

%;%CMMJWM_M%_TO*M&/—' G The candidate describes some
,(’;A Je X /h[Y —Awl'ﬂala&—iﬁ- W@

of the problems of urbanisation.

e This is a typo — stop the spread
of diseases.

e The candidate explains that
the actions of ‘Muckrackers’ expose
the poor living conditions, and this
brings some alleviation.

T a The industries controlled by
monopolies and ‘robber barons’ are
an aspect of urbanisation and, so,
have some relevance.
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Example Candidate Responses — Paper 2

Example Candidate Response — high, continued Examiner comments
—
Z 7,

i : e The candidate provides the
o S e other side of the argument with
| ’”&M {m__QmEﬁ\_ ALy Lo TR b /Mo an examination of the conditions
mmdmpi_o* o2y Mastes VL e workers face — government bias
o Oemodkzed o Jas MM&AQ@JM,A cemehdies,| | towards business and opposition
Aol X MM\_M ﬂu OLW_ to trade unions, referencing the
. 0,‘,57% ‘_W‘le " é) A bl _nocsonned Homestead Steel strike, 1892.

‘m%m compampetiznt ) o racsan ygoan N o ‘ Defegt |n-such strikes Iea.ds to the
continuation of long working hours

‘71‘) )UUZ-&!UU\ nl)\“aQiT.E.)\_M\__QJTY\/G —M‘J@ Qjﬁ-%. hf/{r’ and |0W pay
Jran) OVVAJYLCLW’%MW[F/LJ 40._;__
e The candidate states their view

Dﬂ)\x:ty_ﬁm;,.mmm‘ ML ,F_QJ.J‘__MQ ek that the problems of urbanisation,

-anQJ\nQ*n‘TS\ on balance, are solved effectively.

L ﬂw‘kow _&m &m’”‘““?&*— Mark for (b) = 11 out of 20
: n\ou._ﬂmmzliM__WDA_Jﬁgi\ wnﬂﬂ‘ﬂ%— Uﬂt‘w =22 | Total mark awarded =
- Ogj:;mtm%_A __.0 : : : 19 out of 30

How the candidate could have improved their answer

¢ (a) The answer started well with a clear statement of the main aim of the Progressives — improve the state of
American society.

¢ (a) The responses provided detailed explanations regarding the passing of the 17th and 18th Amendments.

* (a) The answer would have benefited from a clear link being established to the aim of improving the state of
American society.

* (b) The response started with a statement that the problems of urbanisation were dealt with effectively. There was
some support provided for this view, but the answer became more generalised when it looked at ‘robber barons.’

¢ (b) An attempt was made at balance by looking at the alternative view through reference to labour relations.

¢ (b) The response would have been improved if there had been detailed references to issues such as working hours
and child labour. These would have provided a greater depth of evidence in support of the argument made.
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Example Candidate Response — middle Examiner comments
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“ The candidate provides a
general description of the areas
Progressives wish to address —
immigration, political machines,
‘robber barons’, and poor working
conditions.

e The candidate explains that
Progressives seek change to the
Constitution due to the influence of
corporate interests on government.

0 The final sentence provides
an effective summary of the aims
of Progressives as regards the
Constitution.

Mark for (a) = 6 out of 10
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Example Candidate Response — middle, continued Examiner comments
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° The candidate declares their
own view on the extent to which the
problems of urbanisation are dealt
with effectively. They state what

the problems are — treatment of
immigrants — political corruption.

6 The candidate gives further
examples of problems urbanisation
creates — dangerous working
conditions — weakening of trade
unions — lack of government action.
The candidate provides support with
references to the Triangle Shirtwaist
Factory Fire and the Pullman Car
strike. The reference to ‘pretext’ is a
typo for ‘context.’
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Example Candidate Response — middle, continued Examiner comments
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e The references to the Seneca
Falls Conference, Black Codes and
Jim Crow laws are invalid for the
question’s focus.

o The candidate makes the
point that governments, following
economic downturns in 1873 and
1890, fail to address economic
issues, without providing evidence
in support.

e The candidate describes issues
which relate to the Great Crash and
Great Depression. These are invalid
statements as they are outside the
focus of the question.

Mark for (b) = 9 out of 20

Total mark awarded =
15 out of 30
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How the candidate could have improved their answer

(a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show
connections between factors and reach Level 4.

(a) The explained factor dealt with corporate concerns influencing government.

(a) Some of the other examples offered — minimum wage/African American rights/monopolies — were not related to
Constitutional Amendments.

(b) The response started with an examination of political machines, particularly with regard to immigrants. This
reference would have benefited from more explanation as to why immigrants were willing to accept political bosses.

(b) Valid references were made to issues facing workers which were not met — Triangle Shirt Waist factory fire —
Pullman Car strike — decline in support for trade unions.

(b) The response lost focus when it examined the Seneca Falls Conference,1848, votes for women and the impact
of Black Codes and Jim Crow laws on African Americans.

(b) The lack of detailed evidence about government response following the economic crises of 1873 and 1893
meant the argument about inadequate government action lacked depth.

(b) A further lack of focus on the question was shown when the Great Depression of the 1930s was examined.
(b) There were sufficient valid points for the answer to be awarded Level 3.

Common mistakes candidates made in this question

(a) Some answers focused on legislative changes relating to businesses, working conditions and hygiene, ignoring
the question’s focus of the Constitution.

(b) Some candidates failed to examine the other side of the argument and, as a result, lacked balance.
(b) Some answers provided descriptive accounts with only implicit reference to the question’s focus.

(b) General accounts of living and working conditions were given, which lacked detailed knowledge of the actions
taken to deal with the issues of urbanisation, and so were unable to assess their effectiveness.
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Question 6

Example Candidate Response — high Examiner comments
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Example Candidate Response — high, continued Examiner comments
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0 The candidate explains the

a»,anwe— 6‘@“% e=dn. 0

‘ Y _W o ways government policies caused
T the Great Crash — support for
\q’ww \Uﬂ-w 41/@% pwhwz\/_govwrlw ‘M klief | ; : '~ SUbp

laissez-faire policies by all the
V). 2 MPMLM\" Lor o cradi W—““‘-W Republican presidents in the 1920s
! lffiﬂ@aw,,é!& URe. J da_mﬂc . den; :E iga dﬂﬁ_p/caod leave areas of the US economy, like
ﬁg{‘_@@y\ @M_,M% V‘tﬂt M Wore. Sgenshie— | | the Stock Market, unregulated. The
| m\,m-,{,v Videwr 3% M(L:Eg _g_ he m,,o(wse,l - | practice of buying on the margin is

Lwe/.am cowuliies il et Ao COLL \Lﬂzr/é& - | gambling not investing and banks
_ 'ﬂr/\/\MlW sl 88 o (e td., M (QA« to o CL—(E—(—/;/_-; take part in this Stock Market

4 Vo d 7 1 o7 | | 92mbling which leads to the loss of

=V ”"e’f?/m k. | AR/ M-— 2 depositors’ money as stocks fall in
A W f GW%HM Mrswﬁu_weg_ price.
- Lo iSsu me“USA_W%OM&%M_
| ok OWW\M Bocure dhes Wy Voo _OfSezs |
edlet, _W_W_Weo/ oeba Weyled) . ecerree—~—
B2 ne Mum_mw@uL_xL u 1esocsrced

Wbre MM"“M “‘M‘w_ @ The candidate explains the role

of tariffs, which governments use, in

~JJ0\A-?M 1 do vet W—M—q@—wﬂw—&“{; undermi,ning the economy—impc;rts
nﬂﬁ/l(/wd Wl WMﬂM r%@awuf?/ ) ‘k/{,CIstL are more expensive, this leads to

‘ ’ﬂm/ 8Sye Mwﬂ U)QA..@[;WL Corased foreign countries placing retaliatory
, IpVI Wl aré’/% itevetion of e PM‘M tariffs on American goods and this
. NOCM W1 kAo e a St . %é N reduces American exports. The
{ {oe. problem of over-production is made
i aq M%W el W WM‘&"M becel rorbiceed.. worse as a result.

Were. e ocer” to, fosol Mo, Sofdios {ipidine Arsens
| for2s Wuehon d.‘ﬁ Hie. Prodauchion lme M;;Z@__
(e do Ouertmbection becorde Lond Car3 were
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M Yo Cord beady sabudmf cheafer grice . @

feducpd o5 oo qraaley/ g Yoo do Volowe e b

: \Hnn/ﬂﬂdS wee— N@,L

e~ pvictase feredit)

| Speryone

el ove., %%fn% (ade . 708 v

| \%" He %UM{M \/\l%_S‘@hxe mei’b.—l’kﬂM—%W o |

th  dodons_and_esorousts ol
M_@.Ma&pw e\ _\wed Ireylalalo-. thenmicesr

M Mo (mw\wwt poL_c,ed ML Wl tause He- cruts,

iv\aﬂwgc’ludbv‘/\ Ll

Hoover e n mgw)

{ ‘995__\‘1&,_(9_@.‘«56@& Mmigm Wefleeod ool Brovgh.

0 The candidate provides the
other side of the argument. They
reference the over-production in
agriculture, a legacy of the First
World War. The production line
efficiency of the car industry and
availability of easy credit leads to
supply out-stripping demand.

@ This is a typo — Great Crash.

ey tor, 'Mefeen ‘\14,-.4 weend Yok Hooyev™
lnlu}l,m Ll Iﬁ‘@ o l- ﬁya—a;ne/cw @The candidate describes
' “*==4 | Hoover’s belief in ‘rugged
s Lo d ,_W &az/wm»o iﬁ@u%_@
@ The candidate gives a

OW]/; o %m_g&af__ﬂui: gmynwwi’ Plive

I It &m@m Deimsciy Yo
wmz% - «Wremh/ Ceonidol At
oo~ O e,cav\@vww @

summary of an earlier point.
Mark for (b) = 14 out of 20

Total mark awarded =
20 out of 30

How the candidate could have improved their answer

¢ (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show
connections between factors and reach Level 4.

¢ (a) The answer provided, in the second paragraph, an unsupported claim that taking swift action would have
increased support for Roosevelt.

* (a) The explained factor dealt with his actions over the banks. The response became more generalised in its
description of Roosevelt’s actions regarding Alphabet Agencies and fireside chats.

¢ (b) The answer started well with a range of details supporting the ways government policies were responsible for
the Great Crash. There was a clear explanation of how the use of tariffs had a negative impact on the American
economy.

¢ (b) Explanation of the other side of the argument was provided. However, it would have been improved if the
reference to the alleged inevitability of a business downturn, as part of the economic cycle, had been developed
beyond a statement.

¢ (b) The paragraph on Hoover, whilst valid, would have given its argument more focus if it had been included in the
section dealing with government policies. The reference to the lack of Treasury action had no supporting evidence,
which made the argument ineffective.

* (b) The concluding paragraph was a summary of earlier points, not a supported judgement.
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i Moﬂu\/\ of /Mﬁdna E "  dad /ulm e
M/IW[ 7Z eres J ﬂ)@oﬂ/c 0A7L A@/«’m
‘ /“GAM/ 7 £3 wu/(/ éou/é,/ 4(/4
G [/ é&zﬂ__ﬂ@///nﬂl /‘l 74/ (&Ar’fn‘/

go%« AP m% o 7@/%,«,4 .;c/ iR ‘/Zc S/ c(/U/r;/‘/é\'n o

[,b/ax\ /3 és{ aetfe, 7%’.” 7f‘—
1/ (‘]n}/r}'c/a.yt Vﬂf(/.g 7§=~n 9_,2
;2; /,a /}/7% (/jm /‘95//71.97«71 //‘47/,) &7 a//
L &/Z 76/‘%‘ DLL)J i c,/ 7% één/ Awmq a . .
o - 4 o [ The car_1d|date provides
620 = ERLaa s an explanation — the problems
GWM = /?c/ paZe _rouc! 44/ A”%f 2 Roosevelt faces in 1933, record
L P L DS l—;f W,rfn‘ P %}‘ S unemployment, the collapse of
m/ag/pM Poose 10 /7 Dt macrl A@%(// o share prices and banks on the _
Ty e ool Lois Lo ||t oo e o2
kA 26 1'\‘( 179 o
‘ /munJ Dmﬁ/o Jroncl, 7;/ éfﬁ o e The candidate describes
%ct/ ///n'/ 74; A Zeobﬂ/a/{' é@ cooshe c/ Roosevelt’s actions regarding the
Dn/ }’/"O/ﬂn/k\q ézné) 7%9 Ae. 7/ %/bm Z?MA banks.
| sn BssSivans.  Tn @da/ Z« 2 éﬁé Mark for (a) = 6 out of 10
ofen “/'Zﬂ/ /,dou/J %o 4/
l,f(,o’ﬂ" ﬂﬁu/&ﬂém 572 o gﬁn//ﬁ Ou/c/ /A(/a
) 4 lels %4 S, 4/72 /4&2,}
I: /é S: Z ééo/ﬂ(/c %A 7Z )/,4 JJ(/C/ 50%//4___ 7/)
ol ey fogpoms.dle b s
é/ﬂ 7( / }’mz éa{“/é‘ ‘%/n A»Jd’fﬂ/
Ao\/&Vme{/' v c,/ Clver /76% 7§ Gl oL 7L
Y }C/x./:«m/ a/u yung 7L Zt‘ / 729 :f 7Z A

o The candidate explains that
government is to blame for the
Great Crash — it follows laissez-faire
policies — speculation in the stock
market is noted but no action is
taken.
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A ‘ ‘ : 4 | | point that governments cannot
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i eV .
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e Tn conelsion am/ A tren ___/o.__.__.—__/é"‘i" without further development.

: L een 7L (ia/ a»ouq 2 7ll'> B lren 7L
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[alser - 4(M polle ) ess o trnreng T summary of earlier points.
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VA 7

How the candidate could have improved their answer

¢ (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show
connections between factors and reach Level 4. The explained factor dealt with the dire economic situation
Roosevelt faced in 1933. The answer became generalised as it described Roosevelt’s actions regarding the banks.

* (b) The response started with reasons why government policies caused the Great Crash. The argument then fell
away as a generalised point was made that governments cannot dictate the sales made by private companies, and
reference was made to Roosevelt’s actions and the founding of the SEC. The lack of an examination of the other
side of the argument meant Level 4 could not be accessed because the answer had not provided balance. There
were sufficient valid points for the answer to be awarded Level 3.

Common mistakes candidates made in this question

* (a) Some answers described what Roosevelt did in his First and Second New Deals.

* (b) Some responses ignored the question’s timeframe, the 1920s, and focused on Franklin Roosevelt’s actions
regarding the Great Depression.
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Question 7

Example Candidate Response — high Examiner comments

T 10a) C_pW.;; Lot _Wedtn lng l\) induysfed n WW\@

O vties, ep i Ofitr VoD due o e

#M&PW Pismatk’s f?f(/wm, Y AN%) C‘fm@i, reasons why Germany is
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ffnsmw(,lo s éﬁ‘a e mtofm@%ﬁ_ﬂ A{M/,,g_ overseas empire after 1880; change
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Fenson r G(//ﬂ.m';s/_j___m*‘/f"ﬁt_ﬁﬁffﬁmé P, e | in Bi-smar-cl_(s foreig_n policy and
Ttanio~ frsywn. e 06 1671 cuvd e Teake +F public opinion to gain resources and
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{fm)h of- Vtrsa )l—&ﬁ a RS ' with France by siding with her in

WWM& e, Gm,n Peinlice L.ms_faa=dBPeasg) | colonial disputes with Britain.

G;p_ﬁ‘—i_@/ﬁ%l_zmﬁrfﬁﬁ_@ﬁfm}l S imiCuedion, | _ _
Btomarile s @ﬁ&luswalq Loncamih witn  rthgm eThe candidate explains that
Bty o Porgpay W\ Glomand babo Sbic| | PUDIC opinion favours imperialism
ﬁ)ﬁvpmf\wrv\” W\/{\/ er/(/ e, ___ﬂ_bét(/ S| - as, fora newly.umfled _country, itis
1T e a source of national pride to have
| mmm/rm'w'm Gmf—b% 1. 0‘{’@&‘&—4%/“’ Inln| | an overseas empire like France and
VRS omzcm@/muw bicaybe 1Y v o Sarte Britain.
0. E nnunal e tr hove 0 laer WM(/“WOV
Sl 0k Y i ank anie,

LO\H’\\X (Mxqu btoan 2 wpuallze (N
5% bt ﬁw i Ythe nokusd. (Cnres and
| stz Gumany ‘ot in.. st Fre Loty 25F tromernics
i Bt 00d. 55 A2 I, neAwy nasiea]
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“Place e Sen Ikt Bilnin. (y&fmn
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Gein_ oy i Leod g Wl eecer - lee fibin ° _ _
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Europe, needs additional resources
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|_b_arutSins gt 0dter 1590 Lo ot Kaiser Wilhelm Il and his wish for
Deomectlo, O/biie  g@ mnlm., 604 7 po s Nethen) ‘a place in the sun’ provides further
it s o, 175 hc,f \Thc N ant zmw/hm ¥ reasen support.
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6 The candidate states
Bismarck’s actions are the most
significant, without assessing it
against the other factors.

Mark for (a) = 8 out of 10

e The candidate briefly provides
both sides of the argument.

0 The candidate states that this
treaty makes Japan a world power
without explaining why this is the
case.

e The candidate explains that
victory over Russia makes Japan
a world power as it is the first time
an Asian country is victorious over
a European power. They note

a consequence of the treaty of
Portsmouth for Japan.

e The candidate explains that
the territorial gains Japan makes in
the First World War (FWW) display
her military power. This view of
Japan as a world power receives
further support in the reference to
the positive impact FWW has on
her economy. The reference to New
Guinea is an invalid statement —
Japan seizes a number of German
island colonies which German New
Guinea administers (Marianna,
Carolina and Marshall islands).
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ProciA. Mw Wit an e L0 ) ﬂaw&/; | | improvement.
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2L, mﬁl»/ 5 a5 the epver” Ll turers

How the candidate could have improved their answer

* (a) The answer started with a clear identification of three factors which caused Germany to be increasingly
interested in an overseas empire after 1880. The response went on to explain the identified areas.

* (@) The concluding paragraph repeated earlier points made in the opening paragraph and summarised the first
explained factor — change in Bismarck’s foreign policy.

* (a) The answer would have benefited by showing the connections between the explained factors, as this would
have opened access to Level 4.

* (b) The response made a good start with a brief outline of the opposing arguments. Whilst the Anglo-Japanese
alliance, 1902, was stated as a reason for Japan to be classed as a world power, no evidence was used to support
this claim. The response was more specific when it provided an explanation of how the Russo-Japanese War made
Japan a world power.

» (b) The answer noted Japan’s gaining of Korea, this should have given some depth to the argument but there was
a lack of detail. There was further support for the argument in the paragraph concerning Japan’s gains because of
the First World War. The detail was broadly correct except for the reference to New Guinea.

* (b) The argument would have benefited from a discussion of the modernisation undertaken in Japan because
of the Meiji Restoration. This would have provided context for Japan’s military success. The answer provided an
explanation of the other side of the argument, producing a balanced answer.

* (b) The weakened state of China in 1894 and Russia in 1904 were referenced. However, more detail about the
proposed Racial Equality Clause and its rejection would have given additional depth to the argument that Japan
was not a world power by the end of the First World War.
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ﬂ
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\/ﬁ»ﬁ&@ ,Lj%& 1 | Mark for (a) = 7 out of 10

58



Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments
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e The candidate explains

how internal reforms — the Meiji
Restoration — provides Japan with
the industrial, economic and political
means to become a world power.

o The candidate provides further
support with the reference to the
Anglo-Japanese Alliance. Japan is
an ally of one of the greatest world
powers.

0 The candidate provides

an explanation for Japan not
being a world power by the end
of the First World War (FWW)
through reference to the losses
Japan suffers due to the Triple
Intervention, 1895.

0 The candidate provides a
counterargument to Japan not
being a world power by referencing
the gains Japan makes through her
victory in the Russo-Japanese War.
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Example Candidate Response — middle, continued Examiner comments

/,'@%7» T}; <’>€" 1S Mﬁ?%ﬂ“%ﬁ,ﬂ%&‘
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o, . | Japan’s economy benefits,

;Dg;f?be é(f@Z— 2%?@7/2‘%&&%2 5;“7% through exports, during FWW. The

: D 5’5 7 reference to ‘not at war’ is an invalid

_: (TWJ éééa%mim/legm% statement.

P W e ﬂ;z%; WVZ/OA@DS Mark for (b) = 9 out of 20
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Total mark awarded =
16 out of 30

How the candidate could have improved their answer

* (a) The response showed a lack of precision with the invalid statement that Kaiser Wilhelm Il ‘seized power.’ The
answer was accurate in its two explained factors, Wilhelm II's foreign policy aims, and the wealth and prestige
imperial actions produced, but lost focus with its description of the Anglo-German naval race.

* (a) The answer would have benefited by showing the connections between the explained factors, as this would
have opened access to Level 4 marks. However, the response’s organisation hindered the establishing of any
connection, as it started with Wilhelm II’'s aims and then examined events in 1884.

¢ (b) A clear statement on the role of the Meiji Restoration in making Japan a world power was made at the start
of the response. However, specific detail on military reforms would have given more support to the argument.
There was further support for the argument that Japan was a world power in the explanation provided about the
significance of the Anglo-Japanese alliance, 1902.

¢ (b) The examination of the losses Japan suffered because of the Triple Intervention in 1895 would have benefited
from a clear statement that this showed Japan was not yet a world power.

¢ (b) Support for Japan as a world power was presented in the references to Japan’s gains in the Russo-Japanese
War and the economic gains due to the First World War.

¢ (b) The concluding paragraph was a repetition of points made earlier, not an argued judgement. There were
sufficient valid points for the answer to be awarded Level 3.

Common mistakes candidates made in this question

* (@) Some candidates provided descriptions of how something occurred rather than explanations of why it occurred
and contained factual inaccuracy.

* (a) In some responses, there was a reliance on assertion which lacked factual support.

* (a) Some answers lost the question’s focus and described the naval race with Britain.

* (b) Some responses examined Japan'’s position only up to the end of the Russo-Japanese War.

* (b) Some responses provided a limited range and depth of factual support.

* (b) Few responses made a comparative judgement about the relative merits of different arguments.
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Question 8

Example Candidate Response — high Examiner comments

~ : 2 - Ly
3| 0. |- oo F T e G~ ST e
3 T q B — "
~ - = damaged FR A ) trep s R dery :thrsined =
) . Do ) k:targd o ¢ Ihuzgron
- (pemmmt PP dtubbotr va"‘B o :
: (periZamt ’L“’// 4 > Lo {I—c\’fazrlvc_p.wmg-c
|5 Grenoy_Gink. =G . stubhor - ‘ bitter
- Ruh%rh'/-‘s

= Fﬂ“ﬂwmq.ﬂ\f_d.@ﬂ&’f.oi:_me_&gnm_m_mc;mdnkaﬂl»‘éiﬂﬂ——-——-_ 0 The candidate describes
_______“_M\c.ouﬁjzﬂj_gmmL&memm&MMM@mmm&&_ the long-term animosity between
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e The candidate explains the
impact of the First World War
on relations — a second German
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Example Candidate Response — high, continued Examiner comments
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0 The candidate explains that the
fear of communist expansion and
the fomenting of revolutions within
their own countries cause European
powers to shun the USSR and
support anti-Bolshevik groups. At
Genoa, the USSR feels isolated like
Germany.

0 The candidate provides the
other side of the argument by
examining the Rapallo Treaty, 1922.
The USSR receives recognition
from a European power, Germany,
and this recognition renews for

a further five years at the Treaty
of Berlin, 1926. They give further
support in the reference to treaties
with France and Britain in the
1920s.

e The candidate concludes that
the USSR’s relations with other
European powers are weak in the
1920s and qualify the strength

of the relations with Germany,
whose aim is to seek benefits for
themselves.

Mark for (b) = 13 out of 20

Total mark awarded =
21 out of 30
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How the candidate could have improved their answer

(a) The answer started with a description of the animosity between France and Germany since 1871. This provided
background rather than explanation related to the question’s focus.

(a) The response did provide three explained factors — the impact of the First World War on France — the failure

of the Genoa Conference — the invasion of the Ruhr. However, the response would have been improved by
establishing the connections between the explained factors.

(a) The lack of such connections meant that Level 4 marks could not be accessed.

(b) The response started well with an explanation of the fear European powers, such as Britain and France, had of
Communist expansion, and how this impacted on relations with the USSR. Reference was made to the USSR not
being a member of the League of Nations. Although non-European nations were members, the reference was valid
as European nations dominated the organisation.

(b) The other side of the argument was explained through the examination of the Rapallo Treaty and further
supported with reference to agreements with Britain and France in the 1920s.

(b) There was an inaccuracy, as the USSR joined the League of Nations in 1934, not the late 1920s. The extent of
this recognition was questioned, but there was a lack of support to illustrate the on/off relations between the USSR
and European powers (e.g. Britain 1921, 1924 and, finally, 1929).
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Example Candidate Response — middle Examiner comments
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° The candidate explains that the
Paris Peace Conference provides
France with the opportunity to get
revenge. They outline the military,
economic and territorial aspects

of the Treaty of Versailles. These
e(/on.uh.\(, e Crag z./ duy ,,,u.,,v, " L,L.“ - cause Germany to be economically
betnted Lt -(27) e & Fre fet ety é},/”{? and militarily crippled.

e Repetition of earlier point.

e The candidate states the failure
to deal with the issue of reparations
causes relations between France
and Germany to remain poor.

e The candidate notes why
relations improve, which is not the

question’s focus.
Mark for (a) = 6 out of 10
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e The candidate states their view
in the opening paragraph. They
provide support by referencing
British and French fears of
Communism, which jeopardises
democracy. The poor state of their
economies sees a growing political
extremism. This means the USSR is
not successful in establishing links
with European powers.

e The reference to the League of
Nations is valid. Whilst it is made up
of nations from all over the world, it
is dominated by European powers.

@ The candidate provides the
other side of the argument by
referencing the Rapallo Treaty and
how it provides mutual benefit to the
USSR and Germany.

0 The candidate notes how
Rapallo hinders relations between
the USSR and France, as France
feels insecure at the growing
closeness of Germany and the
USSR.

Mark for (b) = 10 out of 20

Total mark awarded =
16 out of 30
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Example Candidate Responses — Paper 2

How the candidate could have improved their answer

(a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show
connections between factors and reach Level 4.

(a) The answer started with identifying reasons for the lack of improvement in relations before 1924.
(a) There was a lack of precision in the reference to the Holy Roman Empire, as it had ended in 1806.

(a) The response became more generalised with a description of Wilson’s opposition to French demands at
Versailles. The explained factor dealt with the opportunity Versailles provided for France to get revenge. However,
this was followed by repetition of earlier points that France wanted the German economy to be weak to prevent
further invasions.

(a) There was a loss of focus in the reference to America providing loans to Germany.
(a) The final paragraph was not a reasoned conclusion as it repeated earlier points.

(b) The response started with the expression of a view about the question. This was supported through an
explanation of the context for British and French fears of Communist expansion.

(b) The reference to the League of Nations was valid, as it was dominated by European powers.

(b) An attempt was made to show the other side of the argument in the discussion of the Rapallo Treaty. The lack
of detailed factual support (e.g. its renewal for five years at the treaty of Berlin, 1926) meant the argument was
without evidential support. This lack of evidential support continued in the reference to France feeling insecure
because Germany signed the Rapallo Treaty. The answer, therefore, would have been improved by deploying more
factual knowledge in support of presented arguments.

Common mistakes candidates made in this question

(a) Responses, at times, ignored the terminal date and described relations post-1924 (Dawes Plan/Locarno
Treaties/Young Plan).

(b) Few candidates grasped the on/off relations between the USSR and Britain in the 1920s.
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Question 9

Example Candidate Response — high Examiner comments
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a The candidate gives an
explanation as to why American
actions to limit Japanese expansion
in the region leads to the attack —
strengthening of America’s naval
power in the region — support for the
Kuomintang in China — America’s oil
embargo on Japan.

e The candidate explains the
choice Japan faces in 1941, either
accept American terms or overcome
the oil embargo by seizing the
oil-rich Dutch East Indies. The
Japanese choose the latter, which
means an attack on Pearl Harbor
where the American Pacific Fleet
lies.

e The candidate explains that the
aim is to cripple America’s ability

to wage war in the region and
undermine her morale. This attack
will lead to favourable peace terms
for Japan and end American efforts
to stop Japanese expansion.

Mark for (a) = 8 out of 10
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Example Candidate Response — high, continued Examiner comments
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e The candidate outlines their
argument — the Long March (LM)
establishes Mao’s leadership but
there are other important outcomes.

o The candidate describes the

reasons for the LM, the losses the
Chinese Communist Party (CCP)

suffer, and where the CCP set up
their new base.

e The candidate states Mao’s
actions on the LM helps the CCP to
survive Kuomintang (KMT) assaults.
This establishes his leadership of
the CCP.

0 The candidate attempts to
provide the other side of the
argument by examining the fact
that if the CCP does not physically
survive the LM, Mao’s leadership
has no meaning.

Mark for (b) = 10 out of 20

Total mark awarded =
18 out of 30
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How the candidate could have improved their answer

(a) The response started well with a clear explanation that American actions seeking to limit Japanese expansion in
the region led to Japan’s attack on Pearl Harbor.

(a) Two further explanations were provided in the following paragraph. However, the response would have been
improved by establishing connections between the explained factors. The lack of such connections meant that
Level 4 marks could not be accessed.

(b) An outline of the answer’s argument was given in the opening paragraph. The answer became more general
with the description of why the Long March was undertaken, losses the CCP suffered and where it set up its new
base.

(b) The argument that Mao’s actions secured the CCP’s survival would have been more secure if detailed support
had been given. For example, the policy of fair treatment of the peasantry led to growing support for the CCP
amongst peasants and Mao’s actions at the Zunyi Conference ended the power struggle in the CCP’s leadership
and made him the undisputed leader.

(b) There was a limited attempt to show the other side of the argument — if the CCP had not physically survived
then Mao’s leadership would have no meaning. However, the lack of support (for example, the creation of a heroic
narrative for the CCP because of its survival) meant the argument’s depth was limited.
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Example Candidate Response — middle Examiner comments

“ The candidate provides general
points on why Japan attacks Pearl
Harbor, December 1941.

e The candidate identifies a
reason for the attack — Japanese
militarism. The reference to the
effectiveness of tactics and troops
are invalid as they are assertions.

O Exclusion from the peace
negotiations is an invalid statement.

° The candidate identifies a
reason for the attack — to weaken
America. The reference to ‘Japan’s
outrage’ is an invalid statement

as it is based on the previous
invalid statement about the peace
conference.
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Example Candidate Response — middle, continued Examiner comments
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e The candidate moves away
from the question’s focus to
describe a consequence, not a
cause, of the attack.

e Symbolic — this is an invalid
statement as it deals with a
consequence, which is not the
question’s focus.

0 The candidate identifies a third
reason — growing international
tension.

Mark for (a) = 5 out of 20
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Example Candidate Response — middle, continued Examiner comments
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6 The candidate provides an
invalid statement. The link to the
question’s focus is unclear.

e The candidate states the Long
March (LM) provides the Chinese
Communist Party (CCP) with the
opportunity to gain support.

@ The candidate states the

LM reveals the weakness of

the Kuomintang (KMT), and, by
implication, the strength of the CCP.

0 The candidate states that after
the LM there is a loss of support for
the KMT and assert that the quality
of their recruits suffers.

73




Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments
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How the candidate could have improved their answer

(a) The response started with general points on why the Pearl Harbor attack took place. Japanese militarism was
identified as a reason. However, the reference to the effectiveness of Japanese troops and tactics was an assertion
not an explained point. This was the case, also, in the reference that Japan sought in the attack revenge for her
humiliation at the Versailles negotiations.

(a) Two other reasons were identified — to weaken America and growing international tension.

(a) There was a loss of focus when it was stated that the attack was symbolic of Japanese power, this was

a consequence not a cause. Therefore, the response would have benefited from the identified points being
developed with accompanying support into explained reasons, and the connections between the reasons shown.to
reach a supported conclusion.

(b) The answer started with a reference to political turmoil in Japan, but no clear link to the question’s focus was
established. Therefore, the response would have benefited from the point being explicit rather than implicit.

(b) The answer continued in a generalised way. Mao’s appeal to the peasantry was noted, as was his loyalist
policies. However, no evidence was presented in support (e.g. the Rectification Movement).

(b) The final paragraph stated, rather than argued, that Mao’s leadership of the CCP was the most important

outcome of the Long March. The response would have been improved by using detailed factual knowledge as
support for the development of the arguments presented.

Common mistakes candidates made in this question

(a) The consequences of, rather than the causes of, the Japanese attack on Pearl Harbor were given.
(b) Some responses described the Kuomintang encirclement campaigns.
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